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walks),  f3(1) = 3/8,  f3(3) = 1/8.
 

For a four­step walk, each configuration of H’s and T’s has a probability of (½)
4
 = 1/16.

 

So f4(4) = 1/16, since only one walk—HHHH—gets us there.

 

f4(2) = ¼; four different walks, HHHT, HHTH, HTHH and THHH, end at 2.
 

f4(0) = 3/8, from HHTT, HTHT, THHT, THTH, TTHH and HTTH.

 

Probabilities and Pascal’s Triangle
If we factor out the 1/2

N
, there is a pattern in these probabilities:

 

n –5 –4 –3 –2 –1 0 1 2 3 4 5

f0(n)           1          

2f1(n)         1   1        

2
2f2(n)       1   2   1      

2
3f3(n)     1   3   3   1    

2
4f4(n)   1   4   6   4   1  

2
5f5(n) 1   5   10   10   5   1

 

This is Pascal’s Triangle—every entry is the sum of the two diagonally above.  These numbers are in fact the coefficients that appear in the

binomial expansion of (a + b)N.
 

For example,  the row for 2
5f5(n) mirrors the binomial coefficients: 

 

 

To see how these binomial coefficients relate to our random walk, we write:

 


